









The ISPOS is a Mix of Contemporary Design and Great Functionality



Stay ahead of the competition with SENOR's fan-less touch system all-in-one, ISPOS. Enclosed in a heat dissipating solid aluminum die-cast casing, the ISPOS offers innovation and precision at it's finest.

The ISPOS has undergone stringent industrial testing to ensure qualifications received for 'Ingress Protection'. Awarded IP66 certification, the ISPOS ensures total protection against dust and strong jets of liquids from all directions.

Furthermore, the 30degrees angle tilt of the card reader provides user comfort and convenience. Designed with the natural movement of the human body in mind, the ISPOS is an ergonomic Touch Screen System.



















DUAL ISPOS: Dual Results

The Dual ISPOS offers all the features of a Point of Sale terminal and much more. It engages the customer at the point of purchase through promotions, advertising and motion videos from the second display.

Dual ISPOS is not only versatile, but it also provides maximum eye-catching exposures to your customers.

The second screen can aid sales through attention grabbing interactive displays and influence the customers purchasing decision right at the point of purchase whilst at the same time offering live newsfeeds and weather forecast.

Achieve more with the DUAL ISPOS.



Various mounting ability for versatility and convenience

Providing Superior User Safety and Peace of Mind.





The Dual ISPOS provides enhanced security features such as concealed mounting hardware and internal cable management, along side an elegant design, giving your point-of -sale hardware a professional and state of the art finish.

Dual Screens, Dual Functionality, Dual Benefits





Warehouse. Hospitality. Retail. Bakery. Resort. Marine. Industrial. Medical Quality. Safety. Versatility

The Senor Building 65 Weaver Street Coopers Plains QLD. Australia. 4108

P: +61 7 3275 5888 F: +61 7 3275 5800

sales@senortech.com.au www.senortech.com.au





SENOR TECH PTY. LTD

The Senor Building 65 Weaver Street, Coopers Plains, QLD, 4108 TEL (07) 3275 5888 FAX (07) 3275 5800 Homepage: http://www.senortech.com.au Email: sales@senortech.com.au



iSPOS 650

2009/10/01

Name Specification Main Board GST-388 CPU Supports Intel Atom N270 1.6GHz, w/512KB Cache System Memory 2 x SO-DIMM DDR2 socket / 1GB up to 2GB DDR2 533 Display Function Intel 945GSE Chipset Dynamic Video Memory up to 224MB shared with system LCD Touch Panel LCD Size LCD Size 15" TFT LCD Resolution 1024 X 768 Brightness 250 cd/m² or 350 cd/m² Touch Screen ELO or SENOR Five-wire Resistive Touch Connectivity SATA/IDE SATA: 1 X socket for HDD / 1 X Compact Flash Pocket LAN 1 x RJ-45 LAN port 10/100/1000 Mbps Internal 802.11g Wireless LAN (Option) USB 3 x External USB2.0 ports	
CPU Supports Intel Atom N270 1.6GHz, w/512KB Cache System Memory 2 x SO-DIMM DDR2 socket / 1GB up to 2GB DDR2 533 Display Function Intel 945GSE Chipset Dynamic Video Memory up to 224MB shared with system LCD Touch Panel LCD Size 15" TFT LCD Resolution 1024 X 768 Brightness 250 cd/m² or 350 cd/m² Touch Screen ELO or SENOR Five-wire Resistive Touch Connectivity SATA/IDE SATA: 1 X socket for HDD / 1 X Compact Flash Pocket LAN 1 x RJ-45 LAN port 10/100/1000 Mbps Internal 802.11g Wireless LAN (Option) USB 3 x External USB2.0 ports	
System Memory 2 x SO-DIMM DDR2 socket / 1GB up to 2GB DDR2 533 Display Function Intel 945GSE Chipset Dynamic Video Memory up to 224MB shared with system LCD Touch Panel LCD Size 15" TFT LCD Resolution 1024 X 768 Brightness 250 cd/m² or 350 cd/m² Touch Screen ELO or SENOR Five-wire Resistive Touch Connectivity SATA/IDE SATA: 1 X socket for HDD / 1 X Compact Flash Pocket LAN 1 x RJ-45 LAN port 10/100/1000 Mbps Internal 802.11g Wireless LAN (Option) USB 3 x External USB2.0 ports	
Display Function Intel 945GSE Chipset Dynamic Video Memory up to 224MB shared with system LCD Touch Panel LCD Size 15" TFT LCD Resolution 1024 X 768 Brightness 250 cd/m² or 350 cd/m² Touch Screen ELO or SENOR Five-wire Resistive Touch Connectivity SATA/IDE SATA: 1 X socket for HDD / 1 X Compact Flash Pocket LAN 1 x RJ-45 LAN port 10/100/1000 Mbps Internal 802.11g Wireless LAN (Option) USB 3 x External USB2.0 ports	
Dynamic Video Memory up to 224MB shared with system LCD Touch Panel LCD Size 15" TFT LCD Resolution 1024 X 768 Brightness 250 cd/m² or 350 cd/m² Touch Screen ELO or SENOR Five-wire Resistive Touch Connectivity SATA/IDE SATA: 1 X socket for HDD / 1 X Compact Flash Pocket LAN 1 x RJ-45 LAN port 10/100/1000 Mbps Internal 802.11g Wireless LAN (Option) USB 3 x External USB2.0 ports	
LCD Size 15" TFT LCD Resolution 1024 X 768 Brightness 250 cd/m² or 350 cd/m² Touch Screen ELO or SENOR Five-wire Resistive Touch Connectivity SATA/IDE SATA: 1 X socket for HDD / 1 X Compact Flash Pocket LAN 1 x RJ-45 LAN port 10/100/1000 Mbps USB 3 x External USB2.0 ports	
Resolution 1024 X 768 Brightness 250 cd/m² or 350 cd/m² Touch Screen ELO or SENOR Five-wire Resistive Touch Connectivity SATA/IDE SATA: 1 X socket for HDD / 1 X Compact Flash Pocket LAN 1 x RJ-45 LAN port 10/100/1000 Mbps USB 3 x External USB2.0 ports	
Brightness 250 cd/m² or 350 cd/m² Touch Screen ELO or SENOR Five-wire Resistive Touch Connectivity SATA/IDE SATA/IDE SATA: 1 X socket for HDD / 1 X Compact Flash Pocket LAN 1 x RJ-45 LAN port 10/100/1000 Mbps USB 3 x External USB2.0 ports	
Touch Screen ELO or SENOR Five-wire Resistive Touch Connectivity SATA/IDE SATA: 1 X socket for HDD / 1 X Compact Flash Pocket LAN 1 x RJ-45 LAN port 10/100/1000 Mbps Internal 802.11g Wireless LAN (Option) USB 3 x External USB2.0 ports	
Connectivity SATA/IDE SATA: 1 X socket for HDD / 1 X Compact Flash Pocket LAN 1 x RJ-45 LAN port 10/100/1000 Mbps Internal 802.11g Wireless LAN (Option) USB 3 x External USB2.0 ports	
SATA/IDE SATA: 1 X socket for HDD / 1 X Compact Flash Pocket LAN 1 x RJ-45 LAN port 10/100/1000 Mbps Internal 802.11g Wireless LAN (Option) USB 3 x External USB2.0 ports	
LAN 1 x RJ-45 LAN port 10/100/1000 Mbps Internal 802.11g Wireless LAN (Option) USB 3 x External USB2.0 ports	
USB 3 x External USB2.0 ports	
Parallel A. Mai Dinton and	
Parallel 1 x Mini Printer port	
External Serial 4 x RJ45 for COM or 2 X RJ45 for COM + 2 X RJ11 for Cash Drawer	
Internal Serial COM 1 for VFD, COM2 for Touch Panel	
VGA / Printer Port iSPOS 650 P (mini-printer port) / iSPOS 650 V (VGA port)	
PS/2 KB 1 x Mini Din Jack	
Audio 1 x Earphone Jack For Line-out	
Mechanical & Environment	
Dimension (W X D X H) 389 x 232 x 363 mm	
Weight 8.5 Kgs	
Fanless & Ventless Aluminium Casing, Fanless & Ventless System	
Infrared Function Built-in Infrared K/B & Mouse Receiver (Option)	
Splash Resistant IP66 (IP43 with card reader)	
Safety Certifications FCC / CE / CCC / TUV / CB	
Storage Temperature -20°C ~ 60°C	
Operating Temperature 0° ~ 40°C	
Relative Humidity 20% ~ 90% (non-condensing)	
Software	
Operating System Windows 2000 / XP / Business Vista	
Self-testing Program SENOR Self-testing software	
Peripheral Options	
Infrared Keyboard Keyboard wedge Interface	
Magnetic Card Reader Single Track, Double Tracks, Triple Tracks	
Contactless Card Reader RFID (ISO / IEC 14443A / 13.56MHz)	
Smart Card Reader ISO-7816 Compatible	
Fingerprint Sensor Optical Type, 512 dpi	
i-Button Dallas Key	
Customer Display VFD 20X2 lines Display / LCD Graphic Display	